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M. Com. (Sem. IV) (CBCS) (W.E.F. 2019) Examination
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Financial Accounting for Managers

Time : 2.30 Hours] [Total Marks : 70

JA-L (1) odL ¥ UadlAL wdlel 2.
2) e uadsl oL MRl el saldddi 2dd ©.

1 [ssay [ di. 31-03-2021-L A%+ wg QY 1A Yool 8 - 20
gAY
gquotelil W (3.) [Brasdl W (3.)
usA Wyl 50,000 | &Hl-Hs1 1,00,000
Slsadl arydl 1,00,000 | 4~1L 1,80,000
AR My 25,000 |elle : 831 — 60,000 | 1,20,000
AMIL A 62,500 12512 25,000
5151 vl 35,000 |olle : AL —15,000 10,000
5%l Rel-AR 7,500 [As1R0 25,000
ARlelR) 25,000 |25 :
5L olsl sal 15,000 | sl2M1a 20,000
o5 wlaylse 10,000 [ duR Ha 5,000
duR HE 10,000
galelRL 40,000
glevi »1A1Md—1,000 [ 39,000
A$3 1,000
3,30,000 3,30,000

i U qudedl e <flA Yool sl saUl B © ¢

1) ol 4 sl Byd 3. 1,30,000 Aisaldl 9.

@) dodlell YRl Bud 3. 2,25,000 21 € ol Yeeunl Boad
BARL 3. 75,000 A .

(3)  HesRl YAl Bud 3. 30,000 280 Vil Yrl: @ANYSL
Bvd sl 3. 18,000 vl

(@)  AsEIHL 3. 20,000 AsRNL Yl 6L8IR-AL AL 9, oudl-l
3. 5,000+l ieAie-ll Asel 9.
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(B) QAL AW A Ay udaldl sl 3. 41,500 €.
6) s Wl RsHil 3. 1,000-) €5 s ARl ddl <l
(M) ad el AAsl-qsula vidl v Al qEd wud adl :

(A) 4 QAR sAI 3. 1,000
B) vy ud 3. 500
(C) ols »ayged @y 3. 600

D) ad elHuA oA BARL 3. 18,000 AV 9.
uid Y- @Al Bad w1 3. 22,500 A 9.
E) H2SR- =AIRL 3. 5,000 28E 9, uig
ye: @Al Bad qg1R) 3. 6,000 A 9.
@) d4 oL A5l »uas 3. 5,000 WA 9.
AR A :
1) g4 AsAl A U qad-l &R
@) Aol Al Yd uR andrAl e
) Wl AstAdl 4l 4R qad-l e,
Yql
1 20 [, s dged Gauled 52 8. s gls W <l Yoo © ¢ 20
- A Ml AP 3. 20 sHELS
- oud wyRl 3. 10 sMEls
- yfAd sIRvUALAL wAL 3. 6 AsHElS
- sa [ v 3. 4,50,000 ¥ Gaulet 30,000 sHlsi 8q.
- QL v st il 25% aul wd 9.
31-03-2021-1L A%<, due . wg WY

gquotelil W (3.)|Brasdl W (3.)
NECN 10,50,000| %*1- 6,75,000
AR YlMHuu 1,50,000 @12 3,75,000
Wz $3 3,97,500| 11+ 6,00,000
sMelR sl ¢ | 2,25,000(0@L su-ll Slsadl R | 1,20,000
10%-11 el 3,00,000| AB su-l-i (532l A2 1,35,000
RIS 1,32,000 | 2al£IR) 6,00,000
SIMER A0dR §3 4,45,500[0ls Ras 1,80,000
edlgdl 2,25,000( 22\ 2,88,000
wWive YR HARL §3 75,000|in43] sHaAA 27,000

30,00,000 30,00,000
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aRldil 5

1) g4 AsAl A U qad-l &R
@) Aol Al Yd uR andrAl e
(3  Avefl wRvnA Y U qndrAl &R,

2 s sRuikl e, 202140 1Al (A qsdl 20a © 20
(1) | Adysa walt Hoodl axsa Alls wyR 3eiedl 62 {60.84%
@) | u-t: @Al wali Yoo HyR etedl e 1%
B | Ha Ruda ga simeRHl vl 60 SMERL
@ | [rdel Dol 8sn Ml siHelRHl v 48 MLl
B) | 30 wla, 20211 Ax SHERLAL v 1206 $MERL
GuRAsd Rl wYl Hadl :
(1) =2AYsd uali Yoo wyR eiedl e
2) AMd AL AU SHeRL Al
(3) 92l uqell sMeRA-] vl
@ 01 M, 202141 Ay SHERLHAL v
(B) AL uglt Yol HyR 3eiedl &2
wYql
2 [Mudl @A 2le, 20210 Rl (R kdl suta © 20
1) Al Al w3l sHeR-{l Al 1180
©2)  AMd Al 20mRAL SHERL vl 820
(3) 2L ML A 2l 921 2dal selRlHl A 28
(4) L HIAHL 921 AL wldel sIHeRIL vl 42
B) L ML vl @UL YR Adl Ml sMelRHl dvar 20
6) [l A=l s18L RHEal siHelRHl vl 45
Al uglt Yool 1R 3etedl e A ¢
1) AL vgla
2)  yRevHl vglt
(3) AYsd ugld
@) 35 ugli W2 wxse Als soedl €2
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3 oarld AL Quamigl Al wilsdl wa o - 15
EER RY-A| RY-B
QL Asil (As yMe-dl dael Bud 3. 150 8) | 14,000 | 14,000
wisHels $100 60 30
viellrd Alls «s) 3,36,000 |2,10,000
qeiddl s :

(1) sl %2l RldR
@) axd A - Bl RAR w3
(3) uHde [dg
(4) ol axg0Hie] AL A8 HAadl dg-Asl S2al AsHL vie
AR-Brll 324l visHl ddal AL
Y4l

3 A B v Cu 2R S1vUAL 215 % AAl 880 AA © e AAas 15
A AU s3I s s oAl 1L O, -l (oLl {3 w9 ¢
RN A B C
Gawle alsa 100% 70% 50%

QALRL 3,00,000 2,80,000 1,50,000
ldd uidR 2,00,000 2,10,000 75,000
R widr 70,000 50,000 62,000
A<l [Radl A4

(1) 100% Gauled s sl A, B 24 C-l A8l

@) AP s+l 75% Gaulen wlsa sl

(3 3. 28,000 sl sMiadl JALrd 2isue Al

4 g5y aul, (L A ~.l) 15
(1) A vigy Ys-sd s1dan
(2) AAEA ViHU HRJAUAI e
(3) A®S U3dR AWAL uReL
@) a®is uid uglidil 2«0
B) AR (el uglid 2ew
6) MRd-L $MAAR A R Al s
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Instructions :

ENGLISH VERSION

(1) All questions are compulsory.
(2) Figures on right side indicate marks of the question.

1 The Balancs Sheet of Himalay Ltd. as on 31-03-2021 is as 20

follow:
Balance Sheet
Liabilities Amount | Assets Amount
(Rs.) (Rs.)
Preference Share Capital 50,000 | Land & Building 1,00,000
Equity Share Capital 1,00,000 | Machinery  1,80,000
Share Premiun 25,000 | Less : Dep. — 60,000 1,20,000
General Reserve 62,500 | Motor car 25,000
Profit & Loss Account 35,000 | Less : Dep. — 15,000 10,000
5% Debentures 7,500 [ Investments 25,000
Creditors 25,000 | Stock :
Tax arrears 15,000 | Raw Material 20,000
Bank overdraft 10,000 | Semi Finished Goods 5,000
Finished Goods 10,000
Debtors 40,000
—Bad debts.
Reserve — 1,000 39,000
Cash 1,000
3,30,000 3,30,000

Rate of return on capital is determined as follows :

(1)
2)
3)

(4)

(5)
(6)
(7)
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The Value of Land & Building is to be estimated as
Rs. 1,30,000.

The Replacement value of machine is Rs. 2,25,000 while
the depreciation of replacement value is Rs. 75,000.

The Replacement value of Motor Car is estimated
Rs. 30,000 and the Depreciation at Replacement value will
be Rs. 18,000.

In Investment of Rs. 20,000 are outside business investment
and the remaining Rs. 5,000 are inside investments.

Profit before tax provision and interest is Rs. 41,500.
A stock of Rs. 1,000 from Raw-material does not seem to work.

During the year consider the following information for
profit and loss accounts :



(A) Loss for sale of Machinery

(B) Bad debts return

(C) Interest of bank overdraft

Rs. 500
Rs. 600

Rs. 1,000

(D) Depreciation of machinery during year is calculated of
Rs. 18,000, but depreciation at Replacement value has

Rs. 22,500.

(E) Depreciation of Motorcar is calculated of Rs. 5,000,
but depreciation at Replacement value has Rs. 6,000.

(F) Income from outside business investment is Rs. 5,000.

Calculate :

(1) Rate of Return on Total Capital Employed
(2) Rate of Return on Net Capital Employed
(3) Rate of Return on Shareholders fund

OR
1 Abu Ltd. produced one Product. Per unit cost is under : 20
- Direct Material Rs. 20 Per Unit
- Direct labour Rs. 10 Per Unit
- Variable factory overhead Rs. 6 Per Unit
- Total fixed cost Rs. 4,50,000 and production was 30,000
Units.
- The Profit is calculated 25% on sales.
Balance Sheet of Abu Ltd. as on 31-03-2021
Liabilities Amount| Assets Amount
(Rs.) (Rs.)
Share Capital 10,50,000| Land 6,75,000
Share Premium 1,50,000] Plant 3,75,000
Provident Fund 3,97,500 | Building 6,00,000
Worker Profit Equity shares of
sharing Fund 2,25,000] subsidiary company 1,20,000
10% Debentures 3,00,000| Equity shares of AB
Creditors 1,32,000{ Company 1,35,000
Worker Compensation Debtors 6,00,000
Fund 4,45,500(Bank Balance 1,80,000
Bills Payable 2,25,000( Stock 2,88,000
Depreciation Fund on Underwriting Commission 27,000
Plant 75,000
30,00,000 30,00,000
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Calculate :
(1) Rate of Return on Total Capital Employed
(2) Rate of Return on Net Capital Employed
(3) Rate of Return on Net Average Capital Employed

2 The following information given by one factory for the month 20
of April, 2021 :

(1) | According to Joint Method Equivalent Annual

Labour Turnover Rate 60.84%
(2) | According to Replacement Method Labour

Turnover Rate 1%
(3) | Total No. of Workers Newly Appointed 60 Workers
(4) | No. of Workers Appointed under Expansion Plan 48 Workers
(5) | No. of Workers on 30t April, 2021 1206 Workers

From the above information find out :
(1) Labour Turnover Rate According to Joint Method
(2) Average No. of workers for the month of April
(3) No. of Workers Resign
(4) No. of Workers on 15t April, 2021
(5) Labour Turnover Rate According to Separation Method.
OR
2 The following information given by Nirali Ltd. for the Month 20
of April 2021 :
(1) No. of Workers at Beginning of April Month 1180

(2) No. of Workers at End of April Month 820
(3) No. of Workers Resigned this Month 28
(4) No. of Workers Dismissed this Month 42
(5) No. of Workers newly appointed on vacancies of

this Month 20

(6) No. of Workers appointed due to expansion plan 45
According to following method find out Labour Turnover Rate :
(1) Separation Method

(2) Replacement Method

(3) Combined or Flux Method

(4) Equivalent Annual Labour Turnover Rate for Every Method.
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3  Following information is obtained from the books of 15
Gujarat Ltd.
Particulars Product-A | Product-B
Selling Units
(Selling Price is Rs. 150 Per Unit) 14,000 14,000
Contribution Per Unit 60 30
Estimated Profit Per Annum 3,36,000 | 2,10,000
Calculate :
(1) Profit Volume Ratio
(2) Fixed Cost of Product-A and B
(3) Break Even Point
(4) The level of sales at which both the product earn the
same profit, then how many units are to be sold of
product-A and Product-B.
OR
3 A B and C are the three factory run under the same 15
management, Management want to combined in to one unit. The
detail of which are as follow :
Particulars A B C
Production Capacity 100% 70% 50%
Sales 3,00,000 2,80,000 | 1,50,000
Variable Cost 2,00,000 2,10,000 75,000
Fixed Cost 70,000 50,000 62,000
Find out the following details :
(1) Profit at 100% Production Capacity of factory A, B
and C.
(2) Profit at 75% Production Capacity of Combined Units.
(3) Sales of Combined units to earn Profit of Rs. 28,000.
4  Write short notes : (Any Three) 15

(1)
2)
3)
(4)
(5)
(6)

Approaches of Target Costing
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Scope of Management Control Strategy
Importance of Management Control Strategy
Factors Effecting to Target Cost

Importance of Government Accounting System
Duties of Comptroller and Auditor General of India.
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